DO1VLYD 1DNA0¥d (L ek O

UOISIaA ysnbu3 gzoe

Professional
Creates
Quality

PNEUMATIC
Since 1999




B FR.L | AC Series

B OrderCode

ConG

AL 20 00 K 01
L -1 -1 -1 -1
Series Specification code Combination code Relief Type Port Size
A
20 00:Triple/single Nil: Standard M5:M5
30 10:2 pieces Relief Type 01:PT1/8
40 02:PT1/4
50 03:PT3/8
04:PT1/2
B Symbol 06:G3/4
S PN 2 PN 10:G1
. S AR - S (= S _
Standard Relief Type
B Technical Specification
Model AC1000-M5 | AC2000-01 | AC2000-02 | AC2500-02 | AC2500-03 | AC3000-02 | AC3000-03 | AC4000-03 | AC4000-04 | AC4000-06 | AC5000-10
Filter AF1000 AF2000 AF2000 AF2500 AF2500 AF3000 AF3000 AF4000 AF4000 AF4000 AF5000
Module Regulator AR1000 AR2000 AR2000 AR2500 AR2500 AR3000 AR3000 AR4000 AR4000 AR4000 ARS5000
Lubricator AL1000 AL2000 AL2000 AL2500 AL2500 AL3000 AL3000 AL4000 AL4000 AL4000 AL5000
Port Size M5x0.8 PT1/8 PT1/4 PT1/4 PT3/8 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G1
Pressure Gauge Size PT1/16 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/4 PT1/4 PT1/4 PT1/4
> Rated Flow(L/Min) 90 500 500 1500 1500 2000 2000 4000 4000 4500 5000
S‘) Working Media Clean air
o)
E Proof Pressure 1.5Mpa
1)
— Range of Regulation 0.05~0.7Mpa 0.05~0.85Mpa
E Ambient Temperature 5~60°C
3
% Filter Precision 25 pm(Normal) or 5 pm(Customized)
Suggested Lubricating Oil Turbine No.1 Oil (ISO VG32)
Body Material Aluminum Alloy
Material Bowl Material PC
Cup Cover AC1000~AC2000:without AC3000~AC5000:with(Steel)
_ _ Note:Rated flow should be under the pressure of 0.7Mpa.
B Dimension
AC1000~2000 AC3000~5000
E0O= . F o E FOE
F{; / Pressure Gauge Port Size *"—*D ! M /Pressure Gauge Port Size . F EI} E i
A f HA Lﬁﬁ%\ I A0 e UL o I::Ltyiet \ ' |
f1H L type Bt e = ; , b £~
g'l.;t - S . *é‘:{.f.!ﬂ‘ bracket [__ _L%EJ Iﬁt; = e @--:&- E%L‘ II T q :
= - Z l ' e ! o
Bk / T i Eiﬁnﬁ}/ [ ¥ = L)
{nﬂpijtﬁ]pr:zlr} 8 42 Adaplen(aptional) J E i il’ [ i \ 0
Port Size [ ‘ H . - ‘ e Port Size
Mk [ REM 0 E ? i o _
Drain e Regulator Lubricator gﬁaﬁ?n e Héﬁgﬁaﬁﬂur Luﬁt?r%ir P
Filter Filter
Model Port Size A B C D E F G H J K L P
AC1000 M5x0.8 91 84.5 25.5 25 26 25 33 20 4.5 7.9 5 38.5
AC2000 PT1/8,PT1/4 141 130 39 40 50 31 50 23 9.9 8.2 5 51
AC2500 PT1/4 PT3/8 181 158 38 48 53 41 64 35 7 11 7 70
AC3000 PT1/4 PT3/8 181 158 38 53 56 41 64 35 7 11 7 70
AC4000 PT3/8,PT1/2 236 193 41 70 63 49 82.5 40 8.5 12.5 L 87
AC4000-06 G3/4 256 193 40 70 63 49 90 40 8.5 12.5 7.5 87
AC5000 G3/4,G1 300 268 45 90 75.5 70 105 50 12 16 10 106

Note: The product height may vary depending on the module. For more details, please contact sales.



ConG

B Filter Regulator | AC Series

B OrderCode

|
|
| | AC 20 10 K 01 D

! L L L - 1 L L
1 Series  Specification codeeries Combination code Relief Type Port Size Drain Mode
20 00:Triple/single Nil: Standard M5:M5 Nil:Manual Type
30 10:2 pieces K:Relief Type  01:PT1/8 A:Semi- Automatic Type
40 02:PT1/4 AC:
Differential pressure
50 03:PT3/8 cannula drainage
04:PT1/2 D:Automatic Type
B Symbol 06:G3/4 DA
F—e— - — - N Fem—e——— - e Zero pressure
. | L A = &? | | 10:G3/4 automatic drainage
= . '<;>—“ o KOO
!______::ii___J !____;T§%:L___J
Standard Relief Type
B Technical Specification
Model AC1010-M5 | AC2010-01 | AC2010-02 | AC3010-02 | AC3010-03 | AC4010-03 | AC4010-04 @ AC4010-06 | AC5010-10
Filter Regulator AW1000 AW1000 AW1000 AW1000 AW1000 AW4000 AW4000 AW4000 AW5000
Module
Lubricator AL2000 AL2000 AL2000 AL3000 AL3000 AL4000 AL4000 AL4000 AL5000
Port Size M5X0.8 PT1/8 PT1/4 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G1
Pressure Gauge Size PT1/16 PT1/8 PT1/8 PT1/8 PT1/8 PT1/4 PT1/4 PT1/4 PT1/4
Proof pressure 1.5Mpa
>
J) Range of Regulation 0.05~0.7Mpa 0.05~0.85Mpa
®)
E Ambient Temperature 5~60°C
q)
— Filter Precision 25 pm(Normal) or 5um(Customized)
D
QO Suggested Lubricating Oil Turbine No.1 Qil (1ISO VG32)
=.
g Body Material Aluminum Alloy
Material Bowl Material P
Cup Cover AC1010~AC2010:without AC3010~AC5010:with(Steel)
B Dimension
AC1010~2010 AC3010~5010
- A - e | - A
g < g _ G, )
b | : J
L type bracket DI:I : e
o & IX L type bracket\|
m | e PN _ ! . 1 #0O 1
= 414 S e ne | L ColfoRd -He-ou !
.~!'u|:lar.-te1rr Eﬂptiﬂn;l-J N s “ A e . =
B4 Sk( FEIRTH ) =
_ _ Mapterr optional ) @ %
Pressure Gauge Port Size Port Size 02 ! :
Pressure Gauge Port Size g | g :
| - T ¥ =
= - .. I i 98
Draing Luhncat::-r T L gpr;].l:n Q} Lubricator
Filter Regulator Fmar%ﬁ*j "
Model Port Size A B C D E E G H J K L P
AC1010 M5x0.8 58 109.5 50.5 25 26 Vis 29 20 4.5 7.5 5 38.5
AC2010 PT1/8,PT1/4 90 165 73.5 40 48.5 30 43 24 5.5 8.2 5 50
AC3010 PT1/4,PT3/8 117 209 88.5 53 52.5 41.5 58.5 35 i 10.5 7.5 71.5
AC4010 PT3/8,PT1/2 153 258.5 108.5 70 68 49 76 40 9 12.5 7.5 86.5
AC4010-06 G3/4 165 264 111 70 69 49.5 82.5 40 8.5 12.5 7 87.5
AC5010 G3/4,G1 195.5 342 117.5 90 74.5 70 98 51 11.5 16 10 109.5

Note: The product height may vary depending on the module. For more details, please contact sales.




ConG

B Filter Regulator | AW Series

B OrderCode

AC 20 00 K 01 D
L -1 - 1 - 1 L - 1
Series  Specification codeeries Combination code Relief Type Port Size Drain Mode
20 00:Triple/single Nil: Standard M5:M5 Nil:Manual Type
30 10:2 pieces K:Relief Type  01:PT1/8 A:Semi- Automatic Type
40 02:PT1/4 AC:
Differential pressure
50 03:PT3/8 cannula drainage
04:PT1/2 D:Automatic Type
B Symbol i
i T e . e 1 i s ——— 1 06:G3/4 DA:
| : = E! % : i Zero pressure
| el | ' . ‘i 10:G3/4 automatic drainage
| sl ) | ;&' - -:
Standard Relief Type
B Technical Specification
Model AW1000-M5 | AW2000-01 | AW2000-02 | AW3000-02 = AW3000-03 | AW4000-03 | AW4000-04 A AW4000-06 | AWS5000-10
Port Size M5x0.8 PT 1/8 PT1/4 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G1
Pressure Gauge Sizet M5x0.8 PT 1/8 PT1/8 PT1/8 PT1/8 PT1/4 PT1/4 PT1/4 PT1/4
Rated Flow(L/Min) 100 550 550 2000 2000 4000 4000 4500 5500
Working Media Clean air
Proof pressure 1.5Mpa
> 1
=3 Range of Regulation 0.05~0.85Mpa
7))
E Ambient Temperature 5~60°C
9]
2 Filter Precision 25 uym(Normal) or 5pum(Customized)
% Suggested Lubricating Oil Turbine No.1 Oil  (ISO VG32)
g Body Material Aluminum Alloy
=
- Material Bowl Material PC
Cup Cover AC1010~AC2010:without AC3010~AC5010:with(Steel)
B Dimension
AW1000~2000 AW3000~5000
ON ; ON |
Panel mounting hole Panel mounting hnl
1 | F__E _
. B 2
' T .."f- bracket
J N
=7 [ =
I b
=> | | > [ M
> T Inlet — Outlet
Inlet -=-=F¢ - | ; m £ o
. ) L . F'r'essure Gauge Port Size ‘:‘MH : 4
Pressure Gauge Port Size | Port Size ZF'rassura Gauge ] H i H
: LR il
\tﬁ/ ] Qm
Drain A P
A Filter Regulator
Filter Regulator
Model Port Size A B C D E F G H J K L WY N P
AW1000 M5x0.8 25 109.5 47 25 25 29.5 25 4.5 6.5 40 2 21.5 25
AW2000 PT1/8,PT1/4 40 165 73.5 40 48.5 30.5 31 48 5.5 15.5 29 2 33.5 40
AW3000 PT1/4 PT3/8 54 209 88.5 53 52.5 41 40 46 8.5 8 53 2 42.5 29
AW4000 PT3/8,PT1/2 70 258.5 108.5 70 68 50.5 46.5 54 8.5 10.5 70.5 2.5 525 71.5
AWA4000-06 G3/4 75.5 264 111 70 69 50.5 46 57 8.5 10.5 70.5 2.5 52.5 72.5
AWS000 G3/4,G1 90 342 117.5 90 74.5 50.5 47.5 62.5 8.5 10.5 70.5 2:0 52.5 84.5

Note: The product height may vary depending on the module. For more details, please contact sales.




ConG

Bl Air Filter | AF Series

B OrderCode

AF 20 10 01 D
L - 1 L L L
Series Specification code Combination code Port Size Drain Mode
20 00:Triple/single M5:M5 Nil:Manual Type
30 10:2 pieces 01:PT1/8 A:Semi- Automatic Type
40 02:PT1/4 AC:
| Differential pressure
ST 50 03:PT3/8  cannula drainage
~ B Symbol 06:G3/4 DA
== Zero pressure
W 10:G1 automatic drainage
B Technical Specification
Model AF1000-M5 | AF2000-01 | AF2000-02 @ AF3000-02 A AF3000-03 | AF4000-03 | AF4000-04 | AF4000-06 | AF5000-06 | AF5000-10
Port Size M5X0.8 PT1/8 PT1/4 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G3/4 G1
Water Cup Capacity(ml) 4 15 15 20 20 45 45 45 130 130
Rated Flow(L/Min) 100 750 750 1500 1500 4000 4000 6000 7000 7000
Working Media Clean air
Proof Pressure 1.5Mpa
>
Z‘) Max.Working Pressure 0.85Mpa
E Ambient Temperature 5~60°C
9]
2 Filter Precision 25 u m(Normal) or 5 pm(Customized)
% Body Material Aluminum Alloy
g Material Bowl Material PC
=
Cup Cover AF1000~AF2000:without AF3000~AF5000:with(Steel)
Note:Rated flow should be under the pressure of 0.7Mpa.
B Dimension
AC1000~2000 AC3000~5000
L
L A
G D G —
K . p Era“tfket I
&= o = E!racket____hi: | E i | N ‘ D
T . wi -1 | -8 1 I
H——T | H |
= LQL'::} I] E ol v HT¥":3” '_i‘::;:k ]
Inlet 7 Outlet = NS .’}E Inlet i _ gjulfllet Qutlet .
B =Tl -
JUoog Port Size I]'D'[!]'I]'[l! ; % Port §fzei le
| - I
| | !
| Ji L SENE
Q Drain ! !
A P U P
HEzk  Drain
Model Port Size A B C D E i G H J K L M P
AF1000 M5x0.8 25 66 7 25 - - - - - - - - 26
AF2000 PT1/8,PT1/4 41 113 11 40.5 17.5 29 27 22.5 2.3 8.3 40 2 40.5
AF3000 PT1/4,PT3/8 53 134 14 53 17.5 40 40 24.5 6.5 8 53 2 56
AF4000 PT3/8,PT1/2 70 170 20 70 16 40.5 37.5 28 8.5 10.5 59 2.5 73
AF4000-06 G3/4 75 173.5 20 70 13 43 42.5 25 8.5 10.5 59.5 3 73
AF5000 G3/4,G1 90 247 24 90 13 49.5 545 29 8.5 10.5 71 3 79

Note: The product height may vary depending on the module. For more details, please contact sales.



ConG

B Lubricator | AL Series

B OrderCode

AL 20 10 01
L L -1 - 1
Series Specification code Combination code Port Size
‘ 20 00:Triple/single M5:M5
f
30 10:2 pieces 01:PT1/8
40 02:PT1/4
50 03:PT3/8
LI _ 04:PT1/2
= B Symbol 06:G3/4
i__+ 10:G1
B Technical Specification
Model AL1000-M5 | AL2000-01 | AL2000-02 | AL3000-02 | AL3000-03 | AL4000-03 | AL4000-04 | AL4000-06 | AL5000-06 | AL5000-10
Port Size M5X0.8 PT1/8 PT1/4 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G3/4 G1
Oil Cup Capacity(ml) o 25 25 50 50 130 130 130 130 130
Rated Flow(L/Min) 95 800 800 1700 1700 5000 5000 6300 7000 7000
Working Media Clean air
Proof Pressure 1.5Mpa
>
Z‘) Max.Working Pressure 0.85Mpa
E Ambient Temperature 5~60°C
0
2 Suggested Lubricating Oil Turbine No.1 Qil(ISO VG32)
i‘[;.- Body Material Aluminum Alloy
g Material Bowl Material PC
3
Cup Cover AF1000~AF2000:without AF3000~AF5000:with(Steel)
Note:Rated flow should be under the pressure of 0.7Mpa.
B Dimension
L
AL1000~2000 AL3000~5000 Lt gl ) F__|
G D,
A = -, Bracket ™ ||~ ;
‘ T4t -H- N -
L Ak S l
i 7 E T G [
4gb T of BERT o] | A
o e LT
=> I ia ! Inlet : : :Dut et 7-/;’ :
Inlet Outlet L | ;
Port Sizef‘ | - ~ - PortSize | | N
(I | A
m I' | |
.' : ;
| i |
I S I o bt I -
\;/ f \;?/ v Nl LA gl A
A P . |
il P s
Model Port Size Pt B C D F G H J K L M P
AF1000 M5x0.8 25 81.5 25.5 25 - - - - - - - 27
AF2000 PT1/8,PT1/4 40 125 39 40 30.5 27 22 90 8.5 40 2 40
AF3000 PT1/4,PT3/8 53 141 38 2.5 41.5 40 24.5 6.5 8 53 2 55.5
AF4000 PT3/8,PT1/2 70.5 178 41 69 50.5 425 26 8.5 10.5 71 2.5 73
AF4000-06 G3/4 75 179.5 39 70 50.5 42.5 24 8.5 10.5 59 2.5 74
AF5000 G3/4,G1 90 248 46 90 57.5 54.5 30 8.5 10.5 71 2.5 80

Note: The product height may vary depending on the module. For more details, please contact sales.




ConG

B Regulator | AR Series

B OrderCode

| AL 20 10 K 01
L L L DL L
Series Specification code Combination code Relief Type Port Size
20 00:Triple/single Nil: Standard M5:M5
30 10:2 pieces Relief Type 01:PT1/8
40 02:PT1/4
50 03:PT3/8
04:PT1/2
= -
B Symbol < §> < 06:G3/4
= — N =r “
3 T ' 10:G1
I [ _— = d
‘- - - O
Standard Relief Type
B Technical Specification
Model AR1000-M5 | AR2000-01 | AR2000-02 | AR2500-02 | AR2500-03 | AR3000-02 | AR3000-03 | AR4000-03 | AR4000-04 | AR4000-06 | AR5000-10
Port Size M5X0.8 PT1/8 PT1/4 PT1/4 PT3/8 PT1/4 PT3/8 PT3/8 PT1/2 G3/4 G1
Pressure Gauge Size M5X0.8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8 PT1/4 PT1/4 PT1/4 PT1/4
Rated Flow(L/Min) 100 550 550 2000 2000 2500 2500 6000 6000 6000 8000
Working Media Clean air
> Proof Pressure 1.5Mpa
gﬁ Range of Regulation 0.05~0.7Mpa 0.05~0.85Mpa
=
ﬁ Ambient Temperature 5~60°C
= Body Material Aluminum Alloy
S
E Note:Rated flow should be under the pressure of 0.7Mpa.
-]
B Dimension
AR1000~2000 : N — AR3000~5000
A
/ F , E
G |
|‘ A el |
I
: . :
. K Bracket T
Sl willl
| N |
L 1 - J’ I |
r S t o—. ]
| 1—':— 1 1
= SR M |r-~- o oN , P
A Bl ¢ — 171 === Panel mounting thread
et 1@ )i [{oue F Tl h
7 = W | o i
~ O
O "-"'..JI".'.- ~J [ | [
, =< Pressure Gauge | T [ Thread specification
' Port Size : g
- S Port Size
Model Port Size A B C D E E G H J K L M P
AR1000 M5x0.8 25 58.5 12 25 26 25 29 30 4.5 6.5 40.5 2 20.5 M20x1.0
AR2000 PT1/8,PT1/4 40 91 17 40 50 31 34 43 5.5 15.5 55 2 33.5 M33x1.5
AR2500 PT1/4,PT3/8 53 99.5 25 48 53 31 34 43 5.9 15.5 55 . 42.5 M33x1.5
AR3000 PT3/8,PT1/2 53 124 35 53 56 41.5 40 46.5 6.5 8 53 2.5 52.5 M42x1.5
AR4000 PT3/8,PT1/2 70.5 145.5 37 70 63 50.5 54 54 8.5 10.5 70.5 2.5 52.5 M52x1.5
AR4000-06 G3/4 75 151 40 70 68 50.5 54 56 8.5 10.5 70.5 2.5 52.5 M52x1.5
AR3000 G3/4,G1 90 163.5 48 90 72 54 54 65.8 8.5 10.5 70.5 2.9 525 | M52x1.5

Note: The product height may vary depending on the module. For more details, please contact sales.




ConG

B FR.L | AC Series

B OrderCode

AC 2000 S W D
| | | | |
Series  Specification code Oil form Color Drain Mode
1500:PT1/8 Nil:Standard type Nil: black Nil:Semi-Automatic Type
2000:PT1/4 S:type knob W:white D:Automatic Type
B Symbol
I" _________ . |
. I
O
| Hl |
SRRt P
B Technical Specification
Model AC1500 AC2000
Filter AF1500 AF2000
Module Regulator AR1500 AR2000
Lubricator AL1500 AL2000
Port Size PT1/8 PT1/4
Working Media Clean air
>
=. Proof Pressure 1.5Mpa
)
E Range of Regulation 0.05~0.85Mpa
—
S Ambient Temperature 5~60°C
_|
o Filter Precision 40pum(Normal ) or 5pm(Customized)
Q)
= Suggested Lubricating Oil Turbine No. 1 Oil (ISO VG32)
D
= Water Cup Capacity 15ml
Oil Cup Capacity 25ml
Body Material Aluminum Alloy
Material Bow!l Material PC
Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
Rated Flow(L/Min) 700 800
B Dimension
' Pressure Gauge Port Size G1/8
Hessure Sauge FotSze 1R 436 32 . (53) SRR R SE TR 136 .32 . (53)
) .\ 48 | ] 340 - | ; T @40 ___
B [ TS b | ID—J |
t | | | )
| j | | il IIEIII"‘ r.ca ! p | : | ! E 5
I b ; @ , : | = )|
TE}H]“_L- - r __1__,:%__ B i § o V= - | T IH -—- 14 —(H{— -} - =|f] - - -X__ e
Inlet |2 — . L= 1| Outlet T g ~ | Inlet - : | - | B I Outiet 1 e
. i Tl B / \ : | | /
e rﬁfﬂEIL R ( : \ 1 —'—r ol %QL@ : R :
—H 1 "l O | SHSS| U I A U N 1)
© I : I 6 l © < © ' . ! 6 ! -
! l e . J -~ l —
| -
: | | o Q. | ! | 0. 0
oo
: : : A : : : E §
—r— \_—‘:('/ 0O ) EJ - 29
\?(J | I << { < <C

{} Drain

Note: The product height may vary depending on the module. For more details, please contact sales.




ConG

B FR.L | BC Series

B OrderCode

BC 2000 S - T - D
Ser'ies Specificaltinn code Oil fmrm Cn:lur Drain 'Mnde
Nil: Plastic
1500:PT1/8 Nil:Standard type protective cup Nil:Semi-Automatic Type
2000:PT1/4 S:type knob T: Iron protective cup ~ D:Automatic Type
B Symbol
I- _________ e |
. I
O
I 1
| j |
L s e el ]
B Technical Specification
Model BC2000 BC3000 BC4000
Filter BF2000 BF3000 BF4000
Module Regulator BR2000 BR3000 BR4000
Lubricator BL2000 BL3000 BL4000
Port Size G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
> Ambient Temperature 5~60°C
gj Filter Precision 40um(Normal ) or Sum(Customized)
E Suggested Lubricating Oil Turbine No. 1 Oil (ISO VG32)
q))
— Water Cup Capacity 60ml
—
& Oil Cup Capacity 90ml
=
g Body Material Aluminum Alloy
.
Material Bowl Material PC
Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
Rated Flow(L/Min) 900 900 900
B Dimension
Pressure Gauge Port Size G1/4
227 / Hl
. 227 40 (60) . = -
~ T T = i 73 g i
. 73 -y Pr r ge 1 @64 12 ' |
Port Size G1 4
B B 3 |
™ ' Lo
! 0 © 2 i | | e
1—| Inlet D““Et ) p e Outlet
™
! | O
= T O
TN g
030 obo Saa
838 288
N T "-'U“ 85
Q88 Ll
= \ + I \_ | J J \ | J
T | * E . !
Drain ' Drain
Model BEG BFC S BFC T BFC ST BFC D BFC SD BFC TD BFC STD
Drainage interface S i emm A M16X1.5 M10X 1 M16X1.5 M10X 1
9 Inner diameter hose | Inner diameter hose | Inner diameter hose| Inner diameter hose ' '

Note: The product height may vary depending on the module. For more details, please contact sales.



Bl FR.L | AFC Series C®G®

B OrderCode

AFC 2000 S W D
| | | | |
Series  Specification code Oil form Color Drain Mode
1500:PT1/8 Nil:Standard type Nil: black Nil:Semi-Automatic Type
2000:PT1/4 S:type knob W:white D:Automatic Type

B Technical Specification

Model AFC1500 AFC2000
Filter Regulator AFR1500 AFR2000
Module
Lubricator AL1500 AL2000
Port Size PT1/8 PT1/4
Working Media Clean air
Proof Pressure 1.5Mpa
:__'?. Range of Regulation 0.05~0.85Mpa
Fé) Ambient Temperature 5~60°C
ﬁ Filter Precision 40pm(Normal ) or Spm(Customized)
5 Suggested Lubricating Oll Turbine No. 1 Qil (ISO VG32)
%“ Water Cup Capacity 15ml
i:‘D, Oil Cup Capacity 25ml
Body Material Aluminum Alloy
Material Bowl Material PC
Cup Cover AFC1500~AC2000:without BFC2000-BC4000:with(Plastic)
Rated Flow(L/Min) 600 900

B Dimension

AFC2000 AFC2000S
32 (53) - 88.5 . 315 _. 20
¢=4ﬂ
- = A \
l —18 Bracket -|,|’“
Pressute Gauge Port Size G1/8 - ' -
| Tiian}
' . L $v =1
L)
@ (9)] ~ 1 | |
ﬁ 35 | Inlet : @\L
e 10 |
0 .._.EE-;,__ ] ¥ . -
: :K i g > Caliber
kv Outlet - © L
3 2 ! 10 = —— (PT1/8,
- £ | \ | | PT1/4)
5 3 : AFC1500:PT1/8 001 1
o) ' AFC2000:PT1/4
c :
m I
= |
| _ y,
\%'/ ! Lubricator
Y ' Drain
@ . 52

Filter

Note: The product height may vary depending on the module. For more details, please contact sales.



ConG

B FR.L | BFC Series

B OrderCode

BFC 2000 S - T - D
Ser'ies Specificaltinn code Oil fmrm CE:|{}F Drain 'Mnde
Nil: Plastic
2000:G1/4 Nil:Standard type protective cup Nil:Semi-Automatic Type
3000:G3/8 S:type knob T: Iron protective cup  D:Automatic Type
4000:G1/2
| | . Sym bol
é : |'- _________ === =00
| { I |
' & >
_1___..'" : —— | HI |
e g s Bl o el
B Technical Specification
Model BFC2000 BFC3000 BFC4000
Filter Regulator BFR2000 BFR3000 BFR4000
Module
Lubricator BL2000 BL3000 BL4000
Port Size G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
Ambient Temperature 5~60°C
> Filter Precision 40um(Normal ) or 5um(Customized)
:}' Suggested Lubricating Oil Turbine No. 1 Oil (ISO VG32)
®)
= Water Cup Capacity 15ml 60ml
@)
2 Oil Cup Capacity 25ml 90ml
® Body Material Aluminum Alloy
g Material Bowl Material PC
=
- Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
Rated Flow(L/Min) 1400 1700 1800
B Dimension
BFC2000 BFC2000S
B 154 _ -
40 99
. 154 . - - 14 23
.14 e {—
23 - - —— —
i 11
Cl= |
’ 1 ,R | . l
1 =l=) 11 g ® i | _
T AT N | - HO et — ko= -8
_ - 1 L L L © Inlet f Outlet
Inlet 7 B Outlet | © “‘r -_ = | |
< i ) ©
© 5 | | S _ 8 @
< g | N| oy | o »
Q 5 m -- < © R EE 5 -
Nl ey s @ M~ | 4 -M = N & | < O N
- F - || I 290 e | [5/|L]_ooe 535
19 Sibs | oSS 8 OOO
8 | A= | S88 | £ | 2SS
e ] “ 1l 883 | 1. 89
@ | | T Vi e | o | 000
£ |V [ Ay SRS | ! 5 i
" ! | | | A
| 1 | | = | B | |
Drain
Model BFC BFC S BFC T BFC ST BFC D BFC SD BFC TD BFC STD
Drainage interface =mm A S sl M16X1.5 M10X 1 M16X1.5 M10X 1
9 Inner diameter hose | Inner diameter hose|Inner diameter hose | Inner diameter hose ' '

Note: The product height may vary depending on the module. For more details, please contact sales.



®
B Filter Regulator | AFR Series Ca)G

B OrderCode

AFR 2000 D
Serlies Spemificaltinn code Drain 'Mnde
1500:PT1/8 Nil:Semi-Automatic Type
2000:PT1/4 D:Automatic Type
B Symbol
''''''''' B
\ / !
| |
| \
[ ___: .
- - - _—
B Technical Specification
Model AFR1500 AFR2000
Port Size PT1/8 PT1/4
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
Ambient Temperature 5~60°C
Filter Precision 40um(Normal ) or 5pum(Customized)
>
= Suggested Lubricating Oil Turbine No. 1 Oil (ISO VG32)
)
2 Water Cup Capacity 15mi
o)
1))
-
% Body Material Aluminum Alloy
E Material Bowl Material PC
-
s Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
Rated Flow(L/Min) - 900
B Dimension
i 50 |
.43
34 33 L 48.5 N
2 4 O 39

| 6.4
TN
=
P |
]
|
|
[ |
1I\J
I |
|

‘Loomnon @ |8 (L_AA0A6g
i on ¥ = ) O 7
L oS
% @’ G Qo 0 1
=K i R N O —— — | aliTe
S Qv £ o ik
Inlet |5, V- @) Outlet 3} = o=
S - -
Y ; NJ L
-
@
i -
=

j ﬂJ M* AFR1500:PT1/8
| JNAFR2000:PT1/4

Pressure Gaupe Port Size G1/8

18.5
|
|

Drain



®
B Filter Regulator | BFR Series Ca)G

B OrderCode

BFR 2000 S - T - D
Ser'ies Specificaltinn code Oil fmrm Cn:lur Drain 'Mnde
Nil: Plastic
2000:G1/4 Nil:Standard type protective cup Nil:Semi-Automatic Type
3000:G3/8 S:New type T: Iron protective cup ~ D:Automatic Type
4000:G1/2
B Symbol
i e S S
DN @ I
| ' '
- \']/ Ml l
| ———d
e - - = -
B Technical Specification
Model BFR2000 BFR3000 BFR4000
Port Size G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
Ambient Temperature 5~60°C
Filter Precision 40um(Normal ) or 5um(Customized)
:_-'?- Filter Cup Capacity 60ml
Féj Body Material Aluminum Alloy
2. Material Bowl Material PC
5 Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
W)
§" Rated Flow(L/Min) 1900 1900 1900
D
=4
B Dimension o
_ @ 64 _
79 46 _

63

31

|

i T
ju
|

|
@51

¥ |
® |
< ﬂ 2 |
- W
N 5 | g
N T a |
|-1_... Q | T oA
= — M —
(93]
sibs | o | | &5
[—t| = | S 8 8
| 2 | R
| Q | T TH TS
| | M o0 o
=1 = |
| I
;ér—/
| | _
Model BFR BFR S BFR T BFR ST BFR D BFR SD BFR TD BFR STD
, ) Bmm 4mm 6mm 4mm
Drainage interface : . . . M16X1.5 M10X1 M16X1.5 M10X1
Inner diameter hose | Inner diameter hose | Inner diameter hose | Inner diameter hose

Note: The product height may vary depending on the module. For more details, please contact sales.



Z.
—_
N
O
=
—
O
()
—
—_
@
Q
r—
=)
4"
-
—

Bl Air Filter | AF Series

B OrderCode

ConG

AF 2000 D
Ser'ies Spemificaltinn code Drain 'Mnde
1500:PT1/8 Nil:Semi-Automatic Type
2000:PT1/4 D:Automatic Type
B Symbol
B Technical Specification
Model AF1500 AF2000
Port Size PT1/8 PT1/4
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
Ambient Temperature 5~60°C
Filter Precision 40um(Normal ) or 5pum(Customized)
Suggested Lubricating Oil Turbine No. 1 Oil (ISO VG32)
Water Cup Capacity 15ml
Body Material Aluminum Alloy
Material Bowl Material PC
Cup Cover AC1500~AC2000:without BC2000-BC4000:with(Plastic)
Rated Flow(L/Min) - 1100
B Dimension
© 40 ®40

8.5

97

AF1500:Z2G1/8
AF2000:ZG1/4

Drain




ConG

Bl Air Filter | BF Series

B OrderCode

BF 2000 - T - D
KN | | |
- Series Specification code Color Drain Mode
2000:G1/4 Nil: Plastic protective cup Nil:Semi-Automatic Type
3000:G3/8 T:lron protective cups D:Automatic Type
4000:G1/2
B Symbol
B Technical Specification
Model BF2000 BF3000 BF4000
Port Size G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
:_-'?- Ambient Temperature 5~60°C
%’ Suggested Lubricating Ol Turbine No. 1 Oil (ISO VG32)
S Filter Cup Capacity 60ml
5 Body Material Aluminum Alloy
Q)
§' Material Bowl Material PC
D
=1 Cup Cover AF1500~AF2000:without BF2000-BF4000:with(Plastic)
Rated Flow(L/Min) 2600 3300 3600
B Dimension
~ 72 N 64
30
I M
s O
infet L r | T Outlet o Ly
<t
] i
I / : x
W g 1A s
== | T o ) =
@ 0 ~— 4 : (T'p’
C | C00 o A3
N S8 \|
I‘ O : -
> L L L &/ N~
: momm : o
| 1
b
Drain
Model BF BF S BF T BF ST BF D BF SD BF TD BF STD
Drainage interface Smm i Smm 4mm M16X1.5 M10X1 M16X1.5 M10X1
g Inner diameter hose | Inner diameter hose|lnner diameter hose| Inner diameter hose ' '

Note: The product height may vary depending on the module. For more details, please contact sales.



B Lubricator | AL Series C®G®

B OrderCode

AL 2000 S W
- 1 | | |
Series Specification code Oil form Color
1500:PT1/8 Nil:Standard type Nil:black
2000:PT1/4 S:type knob W:white
B Symbol
B Technical Specification
Model AL1500 AL2000
Port Size PT1/8 PT1/4
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
:_-'?- Ambient Temperature 5~60°C
%’ Suggested Lubricating Oll Turbine No. 1 Qil (ISO VG32)
ﬁ Oil Cup Capacity 15ml
5 Body Material Aluminum Alloy
)
= Material Bowl Material PC
D
=1 Cup Cover AL1500~AC2000:without BL2000-BC4000:with(Plastic)
Rated Flow(L/Min) No products 2800
B Dimension
AL2000 AL2000S
~ 40 = - 40 _ . 39 N
5 5.5 - 19
(] | i i
E |
4 I I~
1 « o)
ol f | | —
= : - =
=t —t——H——————— -]\---—E%}l —
Inlet ||{]] f : y L Outlet { } 1 @
E Inlet Nt A ] — /_E -/
E - n | Outlet
: 2o :
I O 'E"i
[0 7
1 ) OO
w o
| 03
| <<
E
I
|
F
|
|
o | e N—r




B Lubricator | BL Series C®G®

B OrderCode

BL 2000 S - T
- 1 | | |
Series Specification code Oil form Color
2000:G1/4 Nil:Standard type Nil: Plastic protective cup
3000:G3/8 S:type knob T:Iron protective cups
4000:G1/2
B Symbol
B Technical Specification
Model BL2000 BL3000 BL4000
Port Size G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
:_-'?- Ambient Temperature 5~60°C
%’ Suggested Lubricating Ol Turbine No. 1 Oil (ISO VG32)
S Oil Cup Capacity 90ml
5 Body Material Aluminum Alloy
Q)
§' Material Bow! Material PC
D
> Cup Cover AL1500~AL2000:without BL2000-BL4000:with(Plastic)
Rated Flow(L/Min) 2700 3300 3300
B Dimension
BL2000 BL2000S
72 B O 64 _ i @64
J2_. 55 114 17.5 B =
i b s
I |
I [
| B ] : I )
| '
-E£=> ...._-.F,..:;.,.,...,.,.J; mmmmmm ,.H,,_,EBJ_ @ Yol
Inlet I 5 Qutlet \
< T T ’ » : J) — - o _[
|
/ . Inlet Outlet
/ | | ©
L I .
8 | 8| zas
| o oo
T o k | ) 288
222 |1 - ' skp
gl [nl I ==
S V ol ,
Mmoo ‘ | ‘ |
, :
' |
L A ‘ . : I
| !




B Regulator | AR Series C®G®

B OrderCode

AR 2000

Ser'ies Spemificaltinn code

1500:PT1/8
2000:PT1/4
B Symbol
B Technical Specification
Model AR1500 AR2000
Port Size PT1/8 PT1/4
Working Media Clean air
:-—? Proof Pressure 1.5Mpa
)
E Range of Regulation 0.05~0.85Mpa
S Ambient Temperature 5~60°C
_|
o Body Material Aluminum Alloy
Q
= Rated Flow(L/Min) 1000 1100
-]
B Dimension
3 34 _ _©27.5
. —
0 ; AR1500:PT1/8
1T I AR2000:PT1/4
] L /
L !
\ ] ;’i
I
|
I

When regulating knob locked

1 N H H ) -

D 41.5

i
)

\F’ressure Gauge Port Size G1/8 34 | (53)

]



Z.
-
N
O
=
-
O
()
—
-
@
Q
r—
=)
4"
-
—

B Regulator | AR Series

B Technical Specification

B OrderCode

BR 2000
-1 |
Series Port Size

1500:G1/8

2000:G1/4

3000:G3/8

4000:G1/2
B Symbol

ConG

Model BR1500 BR2000 BR3000 BR4000
Port Size G1/8 G1/4 G3/8 G1/2
Working Media Clean air
Proof Pressure 1.5Mpa
Range of Regulation 0.05~0.85Mpa
Ambient Temperature 5~60°C
Body Material Aluminum Alloy
Rated Flow(L/Min) 900 900 1100 1100
B Dimension
_ @275
BR2000:G1/4 |
BR3000:G3/8
BR4000:G1/2
= p _
-
@ |
g lif_ L]
5|0 = N
= |© / D
'-“:_ &) - /
3 O / \J‘ |
= /
& \
| 117\ Y
(=] | 1 -
\ /
N \ /
O \ L
o i . —
! 1 ~ .-—-I'f

Pressure Gauge Port Size G1/4

13




Bl FR.L | GC Series C®G®

B OrderCode

GC 200
-1 -1 -1
Series Port Size Drain Mode
200:G1/4 Nil:Semi-Automatic Type
300:G3/8 D:Automatic Type
400:G1/2
B Symbol

B Technical Specification

Model GC200 GC300 GC400
GF-200 GF-300 GF-400
Module GL-200 GL-300 GL-400
GR-200 GR-300 GR-400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
> Range of Regulation 0.05~0.85Mpa
Z Max.Proof Pressure 1.5Mpa
§ Water Cup Capacity 10ml 40ml 80ml
i Oil Cup Capacity 25ml 75ml 160ml
% Filter Precision 40 ym(Normal) or 5 pm(Customized)
% Suggested Lubricating Oil Turbine No.1 Oil (ISO VG32)
a Ambient Temperature -20~70°C
Material PC Body:Aluminum Alloy; Cup:PC

B Dimension

GC200 GC300-400 L
B A L Type BA
| A BA Bracket [
I o Omgm0l | || =
0 —{ A T ke T T Pl
. - . g | o)
il St - T =m E @ o o |
E| f o Y e - ] —= [~ | A
| : %_ﬂ: ﬂ; % - "I'| O P I
| O - x I
0 g [“ﬂ ' mﬂ M
2 | | g K
KA ’ |
| a%# ' cl o
' Q7
Model A B BA C K KA KB P PA PB Q
GC-200 147 62 30 133 5.5 50 8.4 G1/4 25 93 G1/8
GC-300 248 89 50 216 8.6 64 12 G3/8 40 166.5 G1/4
GC-400 248 89 50 216 8.6 84 12 G1/2 40 166.5 G1/4

Note: The product height may vary depending on the module. For more details, please contact sales.



B F.RL | GFC Series C®G®

B OrderCode

GFC 200
L -1 -1
Series Port Size Drain Mode
200:G1/4 Nil:Semi-Automatic Type
300:G3/8 D:Automatic Type
400:G1/2
B Symbol

B Technical Specification

Model GFC200 GFC300 GFC400
it i GFR-200 GFR-300 GFR-400
GL-200 GL-300 GL-400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
> Range of Regulation 0.05~0.85Mpa
:; Max.Proof Pressure 1.5Mpa
% Water Cup Capacity 10ml 40m| 80ml
2 Oil Cup Capacity 25ml 75ml 160ml
E_EI_ Filter Precision 40 ym(Normal) or 5 pm(Customized)
g Suggested Lubricating Oil Turbine No.1 Oil (ISO VG32)
a Ambient Temperature -20~70°C
Material PC Body:Aluminum Alloy; Cup:PC

B Dimension

GFC200 GFC300~400 i

‘ grlgE:t
K T Type D D
LI | 1T Bracket N\ /
L i
5 | & ,—\fl;

B " ""
| [t - | ‘' > @ 1
: = )
e [y S T8 : T
] E- ’
O . L Pt ety
=] L - ZF . yg L
I 1|| | 06: G1/8 L L |
< | 08: G1/4 ~ | |
| | | | |
o
| ¥ | g W
1 L] Q
Model A B BA G D K KA KB P PA Q
GFC-200 97 62 30 161 M30x1.5 5.5 8.4 G1/4 25 93 G1/8
GFC-300 164 89 50 270.5 M55x2.0 8.6 12 G3/8 40 166.5 G1/4
GFC-400 164 89 50 270.5 M55x2.0 8.6 12 G1/2 40 166.5 G1/4

Note: The product height may vary depending on the module. For more details, please contact sales.



B FRL | GFR Series C®G®

B OrderCode

GFR 200
L -1 -1
Series Port Size Drain Mode
200:G1/4 Nil:Semi-Automatic Type
300:G3/8 D:Automatic Type
400:G1/2
B Symbol

B Technical Specification

Model GFR200 GFR300 GFR400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
Range of Regulation 0.05~0.85Mpa
Max.Proof Pressure 1.5Mpa
> Water Cup Capacity 10ml 40ml 80ml
;} Filter Precision 40 ym(Normal) or 5 pm(Customized)
O
= Ambient Temperature -20~70°C
O
1)) :
— Material PC Body:Aluminum Alloy; Cup:PC
1)
)
=
=
D
3
.

B Dimension

GFR200 GFR300~400
—A .
) A - AB
# & F 2 ™ BA ) BC
i Mount ®AC Mounting  |_ l R
_DOAC_ Elrack';gtj BA | BC . Bracket
K (optional) ‘ KBl (optional) -
| = D i al L~
T L rNe=t—
Y \ﬁ / v 115 \cﬂ»
— — #‘
O
47 _Eﬂ \;ﬂ_ ks ( \ 1
:i: &7’3 $ 1 (_ @ J
e
U — o
L ql__ P
‘|||‘Nﬂ‘[j 14 T PN K
<
< a
l |
- | -
| P
| 0
Q
Model A AB AC B BA BC E D K KA KB KC P PA Q
GFR-200 25 34 28 62 30 32 161 M30x1.5 -5 27 8.4 48 G1/4 93 G1/8
GFR-300 80 72 52 90 50 40 2705 |M55x2.0 6.5 b2 11 53 G3/8 166.5 G1/14
GFR-400 80 72 52 90 50 40 2705 |M55x2.0 6.5 52 11 53 G1/2 166.5 G1/14

Note: The product height may vary depending on the module. For more details, please contact sales.



B Air Filter | GF Series

B OrderCode

ConG

GF 200
L -1 -1
Series Port Size Drain Mode
200:G1/4 Nil:Semi-Automatic Type
300:G3/8 D:Automatic Type
400:G1/2
B Symbol
B Technical Specification
Model GF-200 GF-300 GF-400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
Max.Working Pressure 0.05~0.85Mpa
Max.Proof Pressure 1.5Mpa
> Water Cup Capacity 10ml 40ml 80ml
;} Filter Precision 40 ym(Normal) or 5 pm(Customized)
O
= Ambient Temperature -20~70°C
0O
1) :
— Material PC Body:Aluminum Alloy; Cup:PC
D
e
=
5
=8 [ Dimension
GF200 GF300~400
<A Mounting B
. KB Bracket BA
KA B e
KB e BA Wi L (optional)
} ~ _ ., h e
= & opiina) y Ol ( 't ' 9: —@
AT T T N e le + (®
- ) '..'5 ‘:L 3 : :
:’L I § @ N
\ G P
= = “_P
IR of [T 3 s Y

CA
>
PA

_i.l
-| :_
-
=
L=
L
4
=
=]
N

Q/

Model A B BA C CA K KA KB KC P PA Q
GF-200 47 50 30 123 110 5.4 27 8.4 23 G1/4 93 G1/8
GF-300 80 85.5 50 208 191.5 8.6 99 11 33.5 G3/8 166.5 G1/4
GF-400 80 85.5 50 208 191.5 8.6 99 11 33.5 G1/2 166.5 G1/4

Note: The product height may vary depending on the module. For more details, please contact sales.



B Lubricator | GL Series C®G®

B OrderCode

Gl 200
N —_—
Series Port Size
200:G1/4
300:G3/8
400:G1/2
B Symbol
. |
B Technical Specification
Model GL-200 GL-300 GL-400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
Max.Working Pressure 0.85Mpa
Max.Proof Pressure 1.5Mpa
> Water Cup Capacity 10ml 40ml 80ml
J} Filter Precision 40 ym(Normal) or 5 pm(Customized)
)
= Ambient Temperature -20~70°C
O
1)) :
— Material PC Body:Aluminum Alloy; Cup:PC
®
L
=
5
=8 [ Dimension
GL200 GL300~400
B
Mounting B
RA KB |~ A ggnuagrngypk:t BA
KB : J without Bracket
— MBOr:lgﬂgtg | k (optional)
i e (optional) s> S
El . X ( e ) Q
ar = e BN E:
a - b I~
n 't
| “’
|
\ T \ U7 * . J 1 N
A BC A BC
Model A B BA BC C K KA KB KC P PA
GL-200 47 50 30 40 119 5.5 27 8.4 23 G1/4 80
GL-300 80 85.5 50 71 190 8.6 55 11 33.5 G3/8 142
GL-400 80 85.5 50 71 190 8.6 55 11 33.5 G1/2 142




B Regulator | GR Series C®G®

B OrderCode

GR 200
N —_—
Series Port Size

200:G1/4

300:G3/8

400:G1/2
B Symbol

B Technical Specification

Model GF-200 GF-300 GF-400
Working Media Clean air
Port Size G1/4 G3/8 G1/2
Range of Regulation 0.05~0.85Mpa
Max.Proof Pressure 1.5Mpa
> Ambient Temperature -20~70°C
gn Material Body:Aluminum Alloy
-
O
1))
-
5‘1 B Dimension
=
=
— GR200 GR300~400
AB
KA B
AB ___®AC BA ___BC _
KA B
DAC Mounting S - SRV - - N Mounting { ]
) Bracket Bracket
LBy (optional) KB (optional)
f ~ 1 b N D
5 1 | ) \_ L [ [FF | g"_"; \‘%
" -.."h'L 1 h
El {i: = =l = % & == =
aY B $ L L iy
THILE LA [ s | I (X
B < | | )
> _ L n L &
il _p/UMO I 116
A r _/M_[I:" i
P
Model A AB AC B BA BC C D K KA KB KC P
GR-200 47 59 28 62 30 32 89 M30x1.5 5.5 27 8.4 43 G1/4
GR-300 80 53.5 37 72 42 30 114 M40x1.5 6.5 40 8 44 G3/8
GR-400 80 72 52 90 50 40 140.5 M55x2.2 8.5 55 11 53 G1/2




	01封面
	02气源SMC型号-1
	03气源SMC型号-2
	04
	05气源SMC型号-4
	06气源SMC型号-5
	07气源SMC型号-6
	08
	09气源亚德客-2
	10气源亚德客-3
	11气源亚德客-4
	12气源亚德客-5
	13气源亚德客-6
	14气源亚德客-7
	15气源亚德客-8
	16气源亚德客-9
	17气源亚德客-10
	18气源亚德客-11
	19气源亚德客-12
	20气源亚德客-G系列-1
	21气源亚德客-G系列-2
	22气源亚德客-G系列-3
	23气源亚德客-G系列-4
	24气源亚德客-G系列-5
	25气源亚德客-G系列-6

